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Interactive Question

An object 1s held in place by friction on an inclined plane.
The angle of the inclination is increased until the object
starts moving. If the surface is kept at this angle, the
object

A) slows down. Ak <& M
B) moves at uniform speed.

C) speeds up. |

D) none of the above.



Interactive Question

A 4 kg block and a 2 kg block can move on a horizontal
frictionless surface. The blocks are accelerated by a 12 N
force 1n the positive x direction that pushes the larger
block against the smaller one. Determine the force that
the 2 kg block exerts on the 4 kg block.

+12 N

1

+X

A) zero D) +8 N
B) 4N E)-12 N
C)+4 N
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